6/2/2020

HAMMOND
MANUEACTURING.

4

Grid System (HMEGS Series) - Hammond Mfg.

Quality Products. Service Excellence.

Grid System HMEGS Series

woHs

Depth Grid Straps

Constructed of 14 gauge steel, galvanized.

e There are 4 styles: (1) 25mm wide Depth Grid Strap, (2) 75mm wide Depth Grid Strap, (3
75mm wide Vertical Grid Strap and (4) 25mm wide Door Support Ralil

o Grid Straps feature pattern of alternating square holes (for cage nut) and round holes (for
M5 or #12 screw) at standard 25mm centers.

o Door Support Rails have round holes only.

o Depth Grid Straps and Door Support Rails have mounting flanges at either end.

o \ertical Grid Straps mount flush (butt end bracket included) to other straps for a smooth
continuous mounting surface. (To achieve full height vertical strap, 2 x 75mm Depth Grid
Straps required for top and bottom).

e Sold in pairs.

Grid Mounting Hardware

e A variety of hardware options are available for the Grid System.
e Square holes accommodate cage nuts listed.
e Round holes accommodate M5 and #12 thread forming screws listed.

Gallery

Vertical Grid Straps

Fits Full Fits Full
Part Number Description Length Depth HME Part Number Description Length Height HME
HGD14 25mm wide with mounting flange 222 400 HGV35 75mm wide with flush mount bracket 350 n/a
HGD15 25mm wide with mounting flange B23 500 HGV55 75mm wide with flush mount bracket 550 n/a
HGD16 25mm wide with mounting flange 423 600 HGV75 75mm wide with flush mount bracket 750 n/a
HGD18 25mm wide with mounting flange 623 800 HGV95 75mm wide with flush mount bracket 950 n/a
HGD34 75mm wide with mounting flange 223 400 HGV115 75mm wide with flush mount bracket 1150 1400*
HGD35 75mm wide with mounting flange 323 500 HGV135 75mm wide with flush mount bracket 1350 1600*
HGD36 75mm wide with mounting flange 423 600 HGV155 75mm wide with flush mount bracket 1550 1800*
HGD38 75mm wide with mounting flange 623 800 HGV175 75mm wide with flush mount bracket 1750 2000*
HGV195 75mm wide with flush mount bracket 1950 2200*
* Requires 75mm wide Depth Grid Straps mounted in cabinet above and below
Door Support Rails Square hole Hardware
Fits HME Part Number Description

Length Door Width

Part Number Description

HGDSR4 25mm wide with mounting flange 248
HGDSR5 25mm wide with mounting flange 348
HGDSR6 25mm wide with mounting flange 448

400
500
600

RCNIT
CAGKIT1032-25
CAGKIT1032-100
1421D

Cage nut insertion tool
25 of 10-32 screws and cage nuts
100 of 10-32 screws and cage nuts

25 of Panhead #10-32 Slot/Phillips x 0.5"

https://www.hammfg.com/electrical/products/modular/hmegs

1/2


https://www.hammfg.com/part/HGD14?referer=650
https://www.hammfg.com/part/HGD15?referer=650
https://www.hammfg.com/part/HGD16?referer=650
https://www.hammfg.com/part/HGD18?referer=650
https://www.hammfg.com/part/HGD34?referer=650
https://www.hammfg.com/part/HGD35?referer=650
https://www.hammfg.com/part/HGD36?referer=650
https://www.hammfg.com/part/HGD38?referer=650
https://www.hammfg.com/part/HGV35?referer=650
https://www.hammfg.com/part/HGV55?referer=650
https://www.hammfg.com/part/HGV75?referer=650
https://www.hammfg.com/part/HGV95?referer=650
https://www.hammfg.com/part/HGV115?referer=650
https://www.hammfg.com/part/HGV135?referer=650
https://www.hammfg.com/part/HGV155?referer=650
https://www.hammfg.com/part/HGV175?referer=650
https://www.hammfg.com/part/HGV195?referer=650
https://www.hammfg.com/part/HGDSR4?referer=650
https://www.hammfg.com/part/HGDSR5?referer=650
https://www.hammfg.com/part/HGDSR6?referer=650
https://www.hammfg.com/part/RCNIT?referer=650
https://www.hammfg.com/part/CAGKIT1032-25?referer=650
https://www.hammfg.com/part/CAGKIT1032-100?referer=650
https://www.hammfg.com/part/1421D?referer=650
https://www.hammfg.com/files/products/hmegs/hmegs-lg.jpg
https://www.hammfg.com/files/products/hmegs/hgv-render.jpg
https://www.hammfg.com/files/products/hmegs/hgdsr-render.jpg
https://www.hammfg.com/
https://www.hammfg.com/files/products/hmegs/hmegs-frame.jpg

6/2/2020 Grid System (HMEGS Series) - Hammond Mfg.

Fits HME Part Number Description
Part Number Description Length Door Width 1421CND25 25 of ¥4-20 cage nut
HGDSRS8 25mm wide with mounting flange 648 800 1421CND100 100 of %4-20 cage nut
HGDSR9 25mm wide with mounting flange 748 900* 1421SP142025 25 of Panhead %-20 Slot/Phillips x 0.5"
HGDSR10 25mm wide with mounting flange 848 1000 1421CNB25 25 of M6 cage nut
* 900mm width refers to doors on 1800mm wide cabinet 1421CNB100 100 of M6 cage nut
1421CNBF100 100 of M6 front load cage nut
1421HPM625 25 of Hex/Phillips M6 screws x 12mm

Round Hole Hardware

Part Number Description

1421HPTM525 25 of Hex/Phillips Threadrolling M5 screws x 12mm
1421CT25 25 of Pan/Phillips Threadrolling #12-24 screws x 0.5”

Data subject to change without notice

© 2020. Hammond Manufacturing Ltd. All rights reserved.

https://www.hammfg.com/electrical/products/modular/hmegs 2/2


https://www.hammfg.com/part/HGDSR8?referer=650
https://www.hammfg.com/part/HGDSR9?referer=650
https://www.hammfg.com/part/HGDSR10?referer=650
https://www.hammfg.com/part/1421CND25?referer=650
https://www.hammfg.com/part/1421CND100?referer=650
https://www.hammfg.com/part/1421SP142025?referer=650
https://www.hammfg.com/part/1421CNB25?referer=650
https://www.hammfg.com/part/1421CNB100?referer=650
https://www.hammfg.com/part/1421CNBF100?referer=650
https://www.hammfg.com/part/1421HPM625?referer=650
https://www.hammfg.com/part/1421HPTM525?referer=650
https://www.hammfg.com/part/1421CT25?referer=650

@Iasﬂ U

KomnaHus ((3J'IeKTpO|_|J'|aCT» npeanaraeT 3akKn4vyeHmne onrocpoYHbIX OTHOLLIEHUN npu
NOoCTaBKaxX MMMNOPTHbIX 3NTEKTPOHHbIX KOMMOHEHTOB Ha B3aMMOBbLIFO4HbIX yCJ'IOBI/lFlX!

Hawwn npeumyuiectsa:

e OnepaTuBHbIE NOCTABKM LUMPOKOrO CMeKTpa 3NeKTPOHHbIX KOMMNOHEHTOB OTEYECTBEHHOIO U
MMMOPTHOrO NPON3BOACTBA HANPAMYO OT MPOM3BOAMTENEN U C KPYNMHENLLNX MUPOBbLIX
CKNaaos.;

MocTaBka 6onee 17-TM MUNIIMOHOB HAMMEHOBAHWUIN 3NEKTPOHHbLIX KOMMNOHEHTOB;

MocTaBka CNoXHbIX, AeULNTHBIX, MMOO CHATLIX C MPOM3BOACTBA NO3ULIUIA;

OnepaTtunBHbIE CPOKM NOCTABKM Nof 3aka3 (0T 5 pabounx gHewn);

OKcnpecc goctaska B Nnobyto Touky Poccuu;

TexHnyeckas nogaepkka npoekTa, NomMoLLlb B nogdope aHanoros, NocTaBka NPOTOTUMOB;

Cuctema MeHeXMeHTa KavyecTBa cepTuduumnposaHa no MexayHapogHomy ctaHgapTty 1ISO

9001;

o JlnueHausa ®CH Ha ocyulecTBneHne paboT ¢ NCNONb30BaHWEM CBEOEHUIN, COCTABAOLLINX
rocygapCTBEHHYIO TalHy;

o [locTaBka cneumnanmampoBaHHbIX KOMNoHeHToB (Xilinx, Altera, Analog Devices, Intersil,
Interpoint, Microsemi, Aeroflex, Peregrine, Syfer, Eurofarad, Texas Instrument, Miteq,
Cobham, E2V, MA-COM, Hittite, Mini-Circuits,General Dynamics v gp.);

MoMMMO 3TOro, O4HMM M3 HanpaBnNeHU koMnaHum «AnekTpollnacT» ABNseTca HanpaBneHne

«UcTouHmkn nutaHua». Mel npeanaraem Bam nomoub KoHCTpyKTOpCKOro otaena:

e [logGop onTuManeHOro peleHus, TexHn4eckoe 060CHOBaHME Npu BbIOOpPE KOMMOHEHTA;
Monbop aHanoros.;
KoHcynbTaumm no NpUMEHEHMIO KOMMOHEHTA;
MocTaBka 06pa3yoB M NPOTOTUMNOB;
TexHn4veckasn noaaepka npoekTa;
3awmTa OT CHATMSA KOMMOHEHTA C NPON3BOACTBA.

Kak c Hamu cBfizaTbCcA

TenedoH: 8 (812) 309 58 32 (MHOrokaHanbHbIN)
Pakc: 8 (812) 320-02-42

OnekTpoHHas nouTta: org@eplastl.ru

Aapec: 198099, r. Cankt-INeTepbypr, yn. KannHuHa,
Oom 2, kopnyc 4, nutepa A.



mailto:org@eplast1.ru

